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QUALITATIVE ANALYSIS OF LEARNER RESPONSES AND EVALUATION OF QUESTION PAPERS: NSC 2021

	
 
REPORT 1: EVALUATION OF THE QUESTION PAPER AND MARKING GUIDELINE  
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SECTION A: (General overview of Learner Performance in the question paper as a whole)

	QUESTION 1.1

	The learners’ performance in this question was poor compared to previous year’s performance.

	

	What may be the reason for the performance observed?

	· Learners had challenges with the terminology.
· Due to covid-19 learners had a content gap and needed more revision.
· Most learners had already lost concentration during the time of the examination since the content subject was written last.
· Learners did not get enough foundation in grades 10 and 11 since much of their content was trimmed and other formal assessments were also removed.

	

	Suggestions for improvement

	· More activities should be given to learners to give them more practise of combination type of question and terminology. 
· Questions should not be too tricky and meanings of terms should not be hidden.
· All content subjects must not be written at the end of the examination, as learners tend to lose focus towards the end.

	

	QUESTION 1.2

	Is learner performance poor, fair or excellent

	The performance in this subsection was fair.





	What may be the reason for the performance observed

	•	Most terms that were used were familiar to learners and were found in previous examination papers.
•	Questions asked were clear and understood by learners

	Suggestions for improvement

	•	Teachers must keep the good work of exposing learners to those concepts and give 
         different distracters to various option.
•	Learners must revise and master concepts in each topic.

	

	QUESTION 1.3

	Is learner performance poor, fair or excellent

	The performance in this subsection was fair.

	What may be the reason for the performance observed?

	•	Teachers may have prepared the candidates well using various question bank and terminology quiz and other diverse means to train the learners  
•	Questions were very clear to the learners and easily understood what was needed.

	Misconceptions identified from learner’s responses in the question.

	In Question 1.3.3 most candidates wrote natural selection instead of pedigree, most learners wrote family species, species breeding and cross breeding, instead of species crossing in  Question 1.3.4.    



	Question 1.4

	Is learner performance poor, fair or excellent?

	The performance was good compared to the previous years.

	

	Misconceptions identified from learner’s responses in the question.

	 Yes, learners confused types of credits.
· Some candidates confused farm gate marketing with direct marketing in Qn1.4.1.
· They wrote genome instead of polygenes and others wrote multiple genes in Question 1.4.5

	Suggestions for improvement

	Teachers must compile concepts following CAPS document and present them first whenever introducing new topic.
More revision in concepts/terminology in formal and informal assessments 
More Spelling exercises for Agricultural Sciences terms.

	





SECTION B: Comment on candidates’ performance in individual questions
(It is expected that a comment will be provided for each question on a separate sheet).

	QUESTION 2: AGRICULTURAL MANAGEMENT AND MARKETING

	(a)	General comment on the performance of learners in the specific question. Was the question well answered or poorly answered?  

	The performance was fair because the majority managed to score above 15 marks



	(a) Why was the question poorly answered? Also provide specific examples, indicate common errors committed by learners in this question, and any misconceptions.

	Question 2.1 Interpretation of flow chart
2.1.1 Most learners were able to identify function A (transport) but they confused 
      marketing function D (processing) with packaging since there were boxes, some   
      learners thought it was packaging.

	

	2.1.2 The performance in this question is moderate, some learners confused the 
       advantages of processing with the guidelines for packaging.

	

	2.1.3 Most learners performed well to this question however some learners confused factors hampering marketing chain with factors affecting demand of a product.

	

	Question 2.2 Interpretation and application of pictures

	2.2.1 Most learners responded well to this question by providing co-operative marketing 
       system. However, the picture of laptops in the illustration confused some learners
       who ended up providing free marketing channel (Internet marketing) as an answer
       to the question

	

	2.2.2 This question was poorly answered by the learners since learners tend to give   
      benefits of co-operative marketing instead of principles.

	

	2.2.3 The question was poorly answered by the learners, as they failed to understand the concepts of economies of scale and bargaining power.

	2.3.1 Drawing of the graph

	2.3.1 This question was fairly answered but the variables are still challenging especially on correct labelling of the Y and X axis and calibration of data.

	2.3.2 interpretation of the data in the table

	Most learners managed to identify the largest shortage of oranges but failed to identify the lowest surplus of oranges as they provided R18 instead of R14.

	2.3.3 Most learners managed to identify the equilibrium price from the table.

	Question 2.4 Interpretation of elasticity graphs

	

	2.4.1 This question was well answered by most learners as the graphs were clear and  
       identifiable.

	2.4.2  This question was poorly answered by the majority of learners. they failed to    
      deduce reasons for elasticity from the graphs, instead they provided the law of 
      demand and law of supply and they lost the whole 2 marks.  

	2.4.3 The performance in this question was good although some still confuses demand    
        factors and supply factors. Some confuse product quality with product quality with  
        quantity

	Question 2.5 Interpretation of the case study

	2.5.1 Mostly answered the question and knew what was needed, while others just 
          rewrote the question.

	

	2.5.2	Poorly answered and candidates could not relate the scenario with success 
           factors.
          Very few learners were able to deduce successful factors of entrepreneur from 
          the  scenario.

	2.5.3   (a) Average learners were able to identify strengths 
           (b) They tried to attempt the question but (b) was very challenging.

	

	QUESTION 3: PRODUCTION FACTORS

	Question3. Interpretation of graph

	

	3.1.1 a) The majority of learners failed to analyse the graph which resulted to a poor 
            response to the question.

	3.1.1b) Most learners failed to answer this question since it is embedded from question

	3.1.2 Many learners failed to see arable land was decreasing as human settlements was increasing , also failed to give correct answer because of poor interpretation of the graph.

	3.1.3 Many learners could not get full 2 marks in this because of the poor interpretation of the graph, they provided the land function for question 3.1.1 (b)

	3.1.4 Most learners responded well to this question; however, some few learners provided the functions of land.

	





	Question 3.2 Interpretation of scenario

	3.2.1 The response to this question was very poor. Many learners provided casual and seasonal workers/ experienced and inexperienced works as answers, while the question asked the main types.

	3.2.2 Many leaners performed well and were able to mention tasks done by the casual and seasonal workers.

	3.2.3 Most learners managed to identify different problems of workers in the scenario, although some provided general problems of works such as HIV and Aids which were not in the scenario.  

	3.2.4 The response to this question was good. Many learners managed to provide the correct measure for the problem identified in Question 3.2.3

	Question 3.3 interpretation of data in the table

	3.3.1 Most learners showed high level of analyses of the table, they managed to identify the workers who work under unfair conditions.

	3.3.2 Most learners responded well to this question although the was a problem of language barrier to many learners. Many could not give clear differences between farm A workers and farm B workers because of language barrier.

	3.3.3 Many learners could not provide the correct legislation since there was a comparison between the two farms, learners thought of Employment Equity Act while expected answer was Basic Condition of Employment Act. Many learners are straggling to write legislations correctly.  

	

	Question 3.4 Interpretation of depreciation table

	3.4.1 Many learners managed to interpret the table and identified the types of capital.

	3.4.2 Average number of learners managed to give the correct examples of capitals in question 3.4.1 while others explained the types of capital instead of giving examples.

	3.4.3 The response of the learners to this question was average, although some learners could not write “depreciation” they wrote decrease, degradation and some explained depreciation.

	

	Question 3.5 interpretation of the data in the financial record

	3.5.1 Very few learners who managed to give the correct financial document. Many learners gave, income statement, cash flow, cash flow budget and budget instead of cash flow statement.

	3.5.2 Many learners managed to get this question correct since there were many alternative answers to question.

	3.5.3 Most learners failed to understand that the closing balance of the first quarter is the opening balance of the second quarter as a result, they failed to deduce the correct figure from the table.

	3.5.4 Most learners were unable to calculate the total costs over the first quarter instead they wrote formula and picked incorrect figures from the table.

	3.6 Many learners failed to apply the management skills given to the question that resulted to the poor performance to the question.

	Question 3.7.1 Many learners could not provide the risk management strategies. They provided general risk management strategies.

	Question 3.7.2 The majority of learners managed to get full marks to this question although there are learners who provided examples of external forces as answers

	

	QUESTION 4: Basic Agricultural Genetics

	Question 4.1.1 Learners confused genetics with heredity, they failed to differentiate   
       between the two concepts.

	Question 4.1.2 was fairly answered by most candidates, few of them confused the question with patterns inheritance.

	4.2 Interpretation of Epistatic genes
      Learners were unable to interpret the presence of the epistatic genes in the     
      genotype as a result they wrote the phenotypes of a dihybrid.

	4.3.1 Knowledge of the Phenotypic concept
       Most candidates answered the question correctly while few confused with the   
       genotype.

	Question 4.3.2 Calculation of the % of the homozygous recessive phenotype
       Most learners calculated correctly, while others were not showing all the   
       calculations.

	Question 4.4.1 Application of Punnet square 
       Most learners managed to draw the monohybrid Punnet square but had  
      difficulties in deducing and placing the male and female gametes using the   
      symbols.

	4.4.2 Ability to deduce the unknown genotype 
        Most learners answered correctly (rr), few confuse the genotype with the 
        phenotype.

	Question 4.5.1 Recalling of genetic terms

	        a) Few of them recall the word heterosis or hybrid vigor
        b) Candidates were confusing progeny selection with family selection 
        c) Most learners performed well on description of biometrics

	4.5.2 Explanation why the two cultivars were used in the breeding programme
         Most learners obtained one mark instead of two as they were only responding 
         on the side off the offspring receiving superior characteristics and not of the  
         parents.

	Question 4.6 Interpretation of heritability table
        4.6.1 Majority of learners got the answer correct as they understood the concept 
        of heritability very well.

	4.6.2 a) Most of the learners performed very well in this question while some wrote   
        heritability percentages instead of the characteristic.

	Question 4.7 Interpretation of breeding systems.

	Question4.7.1 Learners confused breeding systems with family selection or backcrossing in  breeding system B.

	Question4.7.2 Some candidates understood the question and gave the disadvantages of inbreeding, while others confuse with the advantages of inbreeding.

	Question 4.8 Interpretation of GM technique in the picture.

	4.8.1 Poorly performed, some candidates could not link the picture to micro injection  technique, they gave needle as the answer.
Question 4.8.2 Candidates were unable to distinguish between convention hybrid and  
       GMO. Most of them gave the advantages of GM over traditional methods

	4.8.3 Most learners wrote the benefits of GMO, instead of the risks and others 
       repeated two environmental risk.



	(b)  Provide suggestions for improvement in relation to Teaching and Learning

	

	· Leaners to be trained in question with cartoons and scenarios to be able to analyse data.
· Frequently writing of activities taken from previous papers can be of benefit
· Teach learners on how to answer questions based on graphs, and scenarios and diagrams
· Drill learners on the criteria used in drawing graphs following the exam guideline.
· Follow up on students who are struggling and grouping them during revisions to address their specific needs. 
· Teachers must use CAPS document together with examination guidelines when preparing for their lessons.
· Teachers are encouraged to use previous years examination question papers for classroom activities, home activities and informal class tests to familiarize learners with questioning style.

	





	(d)	Describe any other specific observations relating to responses of learners and comments that are useful to teachers, subject advisors, teacher development etc.

	

	· Teachers should exchange knowledge especially with Life science teachers helping them in genetics.
· Must form groups in classes to define and discuss about terms on each and every topic.
· More practice on Punnet square method is needed.
· More assessments testing different cognitive levels is needed.
· Extra classes so that they can have enough time for revision.
· Train learners to be able to answer both formal and informal assessment.
· Workshops should be done on teachers based on genetics.

	

	· Learners must be given different tasks (witting and oral presentation of concepts)
· Print classrooms with agricultural posters so that every learner can be able to distinguish and identify all the concepts/pictures
· Content subject like Agricultural Science should not be last paper on the examination timetable, whereby learners are very exhausted with exams 
· June assessment for Paper 2 should also be set provincially for Grade 12 like paper 1 in order to train learners thoroughly on different questioning techniques.
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